
 



Устный счёт. 
24:6=4 

45-5=40 

8 Х 8=64 

12-4= 8 

9Х3=27 

20:10=2 

64:8=8 
 



 

 

 

 

 

                                за 1 минуту 

        7м                                            700см 





Выполни задание. 
 
 
 
 
 
 
 
 
 
 

 

 
(9+8)•0 = 

1•(4+9) = 

0•(16-6)= 

  99 • 0 = 

8•(16-15)= 

 

Придумай  

и  

реши  

5 примеров  

с числом 0.  

 

15 • а =15 

35 • а = 0 

14 + в =30 

18 – х = 0 

с • 34 = 0 



Проверь себя. 
 
 
 
 
 
 
 
 
 
 

 

 
(9+8)•0= 0 

1•(4+9) =13 

0•(16-6)=0 

99 • 0 = 0 

8•(16-15)=8 

 

  ?  

 

15 • 1 =15 

35 • 0 = 0 

14 +16=30 

18 –18 = 0 

  0 •34 = 0 



Составь и реши задачу. 

5 • 3 = 15 (иг.) 

Ответ: 15 игрушек. 

5 5 5 

http://img12.nnm.ru/9/a/0/8/a/9a08a77f5eccf8ac3f41bf1b944ab2e3_full.jpg
http://img12.nnm.ru/9/a/0/8/a/9a08a77f5eccf8ac3f41bf1b944ab2e3_full.jpg
http://img12.nnm.ru/9/a/0/8/a/9a08a77f5eccf8ac3f41bf1b944ab2e3_full.jpg


Составь и реши задачу. 

9 • 3 = 27 (руб.) 

Ответ: 27 рублей. 

9 рублей. 

http://snegurochka1.ru/uploads/items/794880015be2b045960c7454c29e51e72cae48f5.jpg
http://snegurochka1.ru/uploads/items/794880015be2b045960c7454c29e51e72cae48f5.jpg
http://snegurochka1.ru/uploads/items/794880015be2b045960c7454c29e51e72cae48f5.jpg


Составь и реши задачу. 

 ? в 4 раза больше 

?  

http://klopp.ru/uploads/posts/2007-12/1197878640_full_img13.jpg
http://www.sostav.ru/articles/rus/2007/18.10/news/images/1grimm3.jpg
http://alfalogis.ru/static/product_images/2010/03/26/215996212_jpg_480x480_q85.jpg
http://alfalogis.ru/static/product_images/2010/03/26/215996212_jpg_480x480_q85.jpg
http://alfalogis.ru/static/product_images/2010/03/26/215996212_jpg_480x480_q85.jpg
http://alfalogis.ru/static/product_images/2010/03/26/215996212_jpg_480x480_q85.jpg
http://alfalogis.ru/static/product_images/2010/03/26/215996212_jpg_480x480_q85.jpg
http://alfalogis.ru/static/product_images/2010/03/26/215996212_jpg_480x480_q85.jpg
http://alfalogis.ru/static/product_images/2010/03/26/215996212_jpg_480x480_q85.jpg


Проверь себя. 

1) 6 • 3 = 18 (к.) – шоколадных. 

2) 6 + 18 = 24(к.) – всего. 
Ответ: 24 конфеты. 

http://klopp.ru/uploads/posts/2007-12/1197878640_full_img13.jpg


Геометрическая  задача. 
 

9 м 

8 м 

4 м 

2 м 

S=? м2 

http://img-fotki.yandex.ru/get/3105/imka1.17/0_1ebb6_76e65445_XL


http://img-fotki.yandex.ru/get/3105/imka1.17/0_1ebb6_76e65445_XL

